
Nome: Soluzioni

Matematica www.CommonCoreSheets.it
1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0

Risposte

1. 17.318

2. 14.545

3. 9.172

4. 12.644

5. 2.769

6. 11.916

7. 12.505

8. 12.427

9. 12.745

10. 9.710

11. 8.735

12. 12.950

13. 10.532

14. 10.124

15. 7.143

16. 9.729

17. 7.470

18. 9.472

19. 17.660

20. 9.367

Risolvi ogni problema.

1) 9.074 + 8.244 = 17.318

2) 9.782 + 4.763 = 14.545

3) 4.742 + 4.430 = 9.172

4) 7.688 + 4.956 = 12.644

5) 1.655 + 1.114 = 2.769

6) 9.933 + 1.983 = 11.916

7) 7.477 + 5.028 = 12.505

8) 9.048 + 3.379 = 12.427

9) 7.763 + 4.982 = 12.745

10) 5.377 + 4.333 = 9.710

11) 4.965 + 3.770 = 8.735

12) 7.482 + 5.468 = 12.950

13) 5.526 + 5.006 = 10.532

14) 6.217 + 3.907 = 10.124

15) 4.335 + 2.808 = 7.143

16) 5.656 + 4.073 = 9.729

17) 4.027 + 3.443 = 7.470

18) 6.691 + 2.781 = 9.472

19) 9.720 + 7.940 = 17.660

20) 7.965 + 1.402 = 9.367
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Semplificato

Risolvi ogni problema.

9.172 8.735 2.769 14.545

12.505 12.950 12.427 17.318

11.916 12.745 12.644 9.710

1) 9.074 + 8.244 = 17.318

2) 9.782 + 4.763 = 14.545

3) 4.742 + 4.430 = 9.172

4) 7.688 + 4.956 = 12.644

5) 1.655 + 1.114 = 2.769

6) 9.933 + 1.983 = 11.916

7) 7.477 + 5.028 = 12.505

8) 9.048 + 3.379 = 12.427

9) 7.763 + 4.982 = 12.745

10) 5.377 + 4.333 = 9.710

11) 4.965 + 3.770 = 8.735

12) 7.482 + 5.468 = 12.950

Risposte

1. 17.318

2. 14.545

3. 9.172

4. 12.644

5. 2.769

6. 11.916

7. 12.505

8. 12.427

9. 12.745

10. 9.710

11. 8.735

12. 12.950

1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0
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